

$$\int \frac{1}{x^3+1} dx =$$

$$= \int \frac{1}{(x+1)(x^2-x+1)} dx =$$

$$= \int \frac{A}{(x+1)} + \frac{Bx+C}{(x^2-x+1)} dx =$$

$$= \int \frac{A(x^2-x+1) + (Bx+C)(x+1)}{(x+1)(x^2-x+1)} dx =$$

$$= \int \frac{Ax^2 - Ax + A + Bx^2 + Bx + Cx + C}{(x+1)(x^2-x+1)} dx =$$

$$= \int \frac{x^2(A+B) + x(B+C-A) + (A+C)}{(x+1)(x^2-x+1)} dx$$

$$\begin{cases} A+B=0 \\ B+C-A=0 \\ A+C=1 \end{cases} \quad \begin{cases} A=-B \\ B+C+B=0 \\ -B+C=1 \end{cases} \quad \begin{cases} \sim \\ C=-2B \\ -B-2B=1 \end{cases} \quad \begin{cases} \sim \\ \sim \\ B=-\frac{1}{3} \end{cases}$$

$$\begin{cases} A=-B \\ C=-2(-\frac{1}{3}) \\ B=-\frac{1}{3} \end{cases} \quad \begin{cases} A=\frac{1}{3} \\ C=\frac{2}{3} \\ B=-\frac{1}{3} \end{cases}$$

$$= \int \frac{\frac{1}{3}}{(x+1)} + \frac{-\frac{1}{3}x + \frac{2}{3}}{(x^2-x+1)} dx = \frac{1}{3} \ln|x+1| - \frac{1}{3} \int \frac{x-2}{x^2-x+1} dx =$$

$$RD = \frac{1}{3} \ln|x+1| - \frac{1}{3} \cdot \frac{1}{2} \int \frac{2x-4}{x^2-x+1} dx =$$

$$= \frac{1}{3} \ln|x+1| - \frac{1}{6} \int \frac{2x-1-3}{x^2-x+1} dx =$$

$$= \frac{1}{3} \ln|x+1| - \frac{1}{6} \int \frac{2x-1}{x^2-x+1} - \frac{3}{x^2-x+1} dx =$$

$$= \frac{1}{3} \ln|x+1| - \frac{1}{6} \ln|x^2-x+1| + \frac{3}{6} \int \frac{1}{x^2-x+1} dx =$$

$\Delta < 0$

$$= \frac{1}{3} \ln|x+1| - \frac{1}{6} \ln(x^2-x+1) + \frac{1}{2} \int \frac{1}{(x-\frac{1}{2})^2 - \frac{1}{4} + 1} dx =$$

$$= \text{"} - \text{"} + \frac{1}{2} \int \frac{1}{(x-\frac{1}{2})^2 + \frac{3}{4}} dx =$$

$$= \text{"} - \text{"} + \frac{1}{2} \int \frac{1}{\frac{3}{4} \left(\frac{4}{3} (x-\frac{1}{2})^2 + 1 \right)} dx =$$

$$= \text{"} - \text{"} + \frac{1}{2} \cdot \frac{4}{3} \int \frac{1}{\left[\frac{2}{\sqrt{3}} (x-\frac{1}{2}) \right]^2 + 1} dx =$$

$$= \text{"} - \text{"} + \frac{2}{3} \int \frac{1}{\left(\frac{2}{\sqrt{3}} x - \frac{1}{\sqrt{3}} \right)^2 + 1} dx =$$

soluz.: $\frac{2}{\sqrt{3}} x - \frac{1}{\sqrt{3}} = z \rightarrow x = \left(z + \frac{1}{\sqrt{3}} \right) \frac{\sqrt{3}}{2} \rightarrow \frac{dx}{dz} = \frac{\sqrt{3}}{2}$

$$dx = \frac{\sqrt{3}}{2} dz$$

$$= \text{"} - \text{"} + \frac{2\sqrt{3}}{3 \cdot 2} \arctg z + k =$$

$$= \boxed{\frac{1}{3} \ln|x+1| - \frac{1}{6} \ln(x^2-x+1) + \frac{\sqrt{3}}{3} \arctg \left(\frac{2}{\sqrt{3}} x - \frac{1}{\sqrt{3}} \right) + k}$$